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¿àÕÔÜÕâÝëÕ
ÞÑÛÐáâØ

ÝÐØÜÕÝÞÒÐÝØÕ
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ºÞÛØçÕáâÒÞ çÐáÞÒ Ò ÝÕÔÕÛî Ò ÚÛÐááÐå
1 1 × 4 í 6 7 8 9

ÞÑï×ÐmÕÛìÝÐï çÐáml
ÀãááÚØÙ ï×ëÚ Ø

ÛØâÕàÐâãàÐ
ÀãááÚØÙ ï×ëÚ 2 2 2 2 2,5 ?ý 2 2 1,5

»ØâÕàÐâãàÐ 2 2 z 1.5 2 1 1 1 1

¸ÝÞáâàÐÝÝëÙ ï×ëÚ ¸ÝÞáâàÐÝÝëÙ ï×ëÚ 0,5 0.5 0.5 0,5 0,5 0,5 0,5 0,5

ÜÐâÕÜÐâØÚÐ Ø
ØÝäÞàÜÐâØÚÐ

ÜÐâÕÜÐâØÚÐ 2 1,5 1.5 1,5
a
J )5 2 2 a

J

¸ÝäÞàÜÐâØÚÐ 0,5 0.5 0,5

¾ÚàãÖÐîéØÙ ÜØà ¾ÚàãÖÐîéØÙ ÜØà* 0,5i 1 0.5/1 0.5/1 0,5/1

¾ÑéÕáâÒÕÝÝÞ
ÝÐãçÝëÕ ßàÕÔÜÕâë

¸áâÞàØï 0.5 0,5 0.5 0,5 0,5

¾ÑéÕáâÒÞ×ÝÐÝØÕ 0,5 0.5 0,5 0,5

ÓÕÞÓàÐäØï 0,5 0,5 0.5 0,5 0.5

µáâÕáâÒÕÝÝÞ
ÝÐÓèëÕ ßàÕÔÜÕâë

±ØÞÛÞÓØï 0,5 0.5 0,5 0,5 0,5

ÅØÜØï 0.5 0,5

ÄØ×ØÚÐ 0,5 0.5 0,5

ÞáÝÞÒë
àÕÛØÓØÞ×ÝÞÙ
ÚãÛìâãàë Ø

áÒÕâáÚÞÙ íâØÚØ

¾áÝÞÒë àÕÛØÓØÞ×ÝÞÙ
ÚãÛìâãàë Ø áÒÕâáÚÞÙ

íâØÚØ

0,5

¸áÚãááâÒÞ ¼ã×ëÚÐ 0,25 0.25 0,25 0,25 0,25 0,25 0,25 0.25

¸×ÞÑàÐ×ØâÕÛìÝÞÕ
ØáÚãááâÒÞ

0,25 0,25 0,25 0,25 0,25 0,25 0,25

âÕåÝÞÛÞÓØï âÕåÝÞÛÞÓØï 0.25 0.25 0,25 0,25 0,25 0,25 0,25 0.25

ÄØ×ØçÕáÚÐï
ÚãÛìâ}àÐ Ø ÞáÝÞÒë

ÑÕ×ÞßÐáÝÞáâØ
ÖØ×ÝÕÔÕïâÕÛìÝÞáâØ

ÄØ×ØçÕáÚÐï ÚãÛìâãàÐ 0.25 0,25 0,25 0.25 0,25 0,25 0,25 0,25 0,25

ÞáÝÞÒë
ÑÕ×ÞßÐáÝÞáâØ

ÖØ×ÝÕÔÕïâÕÛìÝÞáâØ

0,25 0,25

ºÞààÕÚæØÞÝÝÞ-àtt×ÒØÒÐîéØÕ ×ÐÝïâØï* 0,5/0 0,5/0 0,5/0 0,5i0 0,5 0,5 0,5

¿àÕÔßàÞäØÛìÝçè ßÞÔÓÞâÞÒÚÐ 1

ØâÞÓÞ 8 8 8 8 10 10 10 10 11
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